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10.
11.
12.

Instructions for the Candidates

Write your Seat No. and OMR Sheet No. in the space provided

on the top of this page.

This paper consists of 75 objective type questions. Each question

will carry fwo marks. All questions of Paper-III will be compulsory,

covering entire syllabus (including all electives, without options).

At the commencement of examination, the question booklet

will be given to the student. In the first 5 minutes, you are

requested to open the booklet and compulsorily examine it as
follows :

@) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal or open booklet.

(it) Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to missing pages/
questions or questions repeated or not in serial
order or any other discrepancy should not be
accepted and correct booklet should be obtained
from the invigilator within the period of 5 minutes.
Afterwards, neither the Question Booklet will be
replaced nor any extra time will be given. The same
may please be noted.

(iii) After this verification is over, the OMR Sheet Number
should be entered on this Test Booklet.

Each question has four alternative responses marked (A), (B),

(C) and (D). You have to darken the circle as indicated below on

the correct response against each item.

Example : where (C) is the correct response.

ONON NO,

Your responses to the items are to be indicated in the OMR
Sheet given inside the Booklet only. If you mark at any place
other than in the circle in the OMR Sheet, it will not be evaluated.
Read instructions given inside carefully.

Rough Work is to be done at the end of this booklet.

If you write your Name, Seat Number, Phone Number or put
any mark on any part of the OMR Sheet, except for the space
allotted for the relevant entries, which may disclose your
identity, or use abusive language or employ any other unfair
means, you will render yourself liable to disqualification.
You have to return original OMR Sheet to the invigilator at the
end of the examination compulsorily and must not carry it with
you outside the Examination Hall. You are, however, allowed
to carry the Test Booklet and duplicate copy of OMR Sheet on
conclusion of examination.

Use only Blue/Black Ball point pen.

Use of any calculator or log table, etc., is prohibited.
There is no negative marking for incorrect answers.
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Library and Information Science
Paper III

TAqTAT ST ATRATITE
gyatrent II1

Time Allowed : 2% Hours] [Maximum Marks : 150
Note : This paper contains Seventy Five (75) multiple choice questions. Each
question carries Two (2) marks. Attempt All questions.

AT ¢ A YR THY UeEal (75) SgTdAE URA oA, Woud WAl & (2) 0

Rd. Wd YA gred.

Among the different Boolean
operators ‘AND’ is used :

(A) To widen the search
(B) To begin the search
(C) To narrow the search

(D) To end the search

Arrange the following steps in
classifying documents according to
CC in logical order :

(z) Analysed title
(i1) Kernel title
(z17) Full title

(lv) Raw title

Select the correct answer from the
codes given below :

Codes :

A (v) @) @) @)
B) @ G Gu) Gv)
C) @i) @) @ (o)
D) G) @ Gv) @)

fafay gferm sifmettent, ‘AND’ § e
HIMEES A 2

(A) 3Ny foegd w0

(B) ¥ Feard 0!

(C) ¥y wHifha X0

(D) IhErEl Y@ HO

TerEr fgfeg anffertor qge afiento

FHLOITH] WAl TE-Ie qehaTd hHM
LIAT <

(i) fawemm socd ToAE
(i) T8 TeHH/3ioiw
(ii) qof To™

(iv) = TITH

arell feeed gahdreqd ard 93y
|'|3|€I M

Hehdich :

A) Guv) Gu) @) @)
B) @) @) Gu) Gv)
C) @) @ @ )
D) G @ Gv) @)

[P.T.O.



The obvious advantage of using
controlled vocabulary in indexing
is :

(A) The high input cost

(B) Incompatibility of different
indexing languages

(C) The increased probability that
the same term will be used by
different indexers

(D) The increased probability of
inadequate vocabulary

Match the following and select the
correct answer from the codes given
below :

List I
(z) C.A. Cutter
(z1) Anthony Panizzi
(ziz) S.R. Ranganathan
(v) Seymour Lubetzky
List II
(@) ALA code
(b) CCC
(c) British Museum
(d) Rules for Dictionary Catalogue
Codes :

@ @) Gu) Gv)
A © @ b @
B) d @ ®) (@
©C) @ @@ (@ (b
D) &) @ (@ (©

MAY - 18316/II1—D

Ty Erettordent A YIS UgrEn
IR eI HIUAl T HEE Bidl 7

(A) #Tfed! THTfase HTTIHEEST ST

forad
(B) fafay fdem wmr=n erEdsaan

(C) fafay fever e dx aTooar=an
MERREE
(D) TR I=EHUT AU IR

[aV e SN

STl e S et et Hehdrehid

I garg faer
et 1

() T HFH

(i) ofert dfeh

(i) TE.STR. T

(iv) FHR Fereght
arer 11

(@) TUAT FIE

(b) .G

() Toter Hfem

(d) &8 ®BR feRMA s

Hehdiah :

@ Gi) @) (o)

A) © @ B @

B) d @ ) (@

©) (@ @ @ ®)

D) ®) @ @ (@




Match the following and select the
correct answer from the codes given

below :
List I
(1) Encoding
(i1) Ideas or message
(zi1) Decoding
(tv) Receiver
List II

(a) Converting symbols into subject

matter

(b) The person to whom the

message is meant for

(¢) Converting subject matter into

symbols

(d) Subject matter of
communication

Codes :

@ @ @) ()
A) (@ ©© (@ b)
B) &) @ (© @
C) © @ (@ o)
D) © @ © @

MAY - 18316/II11—D

ST Seoall 3707 Wret! feeied Hehdrehid
A i e
a1
(@) Eehad
(i) weaT fwan wew
(iii) Hiehfdsh fordT= TEHT=a Wit ®UI
Exui
(jv) SRR
et 11

faSil e o

(@) Hhd= wiar fafyrse fasram

HL0

(b) I TR FII TIR Hcdl

e
(c) Taferse foas@ma Hendieheo
(d) wowomen foe fepen e
Hehdich :
@ @) Gu) (o)
A) (@ @ @ (©)
B) &) @ (©© @
C) © @ (@ ()
D) © @ ®) @
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Match the following and select the
correct answer from the codes given

below :
List I
(2) Index Translationum
(i1) Mesh
(i11) EURATOM
(tv) AGROVOC
List II
(@) AGRIS
(b) INIS
(¢) MEDLINE
(d) UNESCO
Codes :

@ @) @) ()
A) d) ) b) (@
B) © @ ®) (@
€ @ © @ (@

D) © b)) @ ()

MAY - 18316/II1—D

Sirea1 S[e3a 3 @ feeted Hehdlehlq

I 799 ferer
RIC |

() TSHE IFHARTH
@) w9
(iii) JeH
(v) ST
et 11
(@) ST
(b) A
(c) T
(d) Tt
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Identify the statement that is not
true about E-books :

(A) E-books can be hacked

(B) An e-book is dependent on
equipment to be read

(C) All publishers produce the
e-book equivalent of their print
books

(D) E-books can allow non-
permanent highlighting of
books

Match the following and select the
correct answer from the codes given
below :

List I
(1) Systematic Bibliography
(it) Descriptive Bibliography
(ziz) Historical Bibliography
(v) Analytical Bibliography
List II

(a) Detailed description of
documents

(b) Classification of books
(¢) Physical condition of books
(d) History of making books
Codes :
@ @) @) @)
A b @ @ (©
B) © G) @ @
C) b)) @ (@ (a)
D) (@ @ (© (©b)

MAY - 18316/I11—D
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(A) 3-g&a fo wam =0 & 3
3T

(B) $-9h ATAUAIIG! IThUMER ST

TETE AT
(C) Hd YhRTeh T ST U F9Ied
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(D) -39 QYT BHIUT T
RIETIG|
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STl Seodll 3107 el feeiesn Hehdiehi

I g1 faer
I |
(i) TSR TagE
(i) AUATCHSER T
(iii) UfTertaes T
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(@) JErE dUIEar oo

(b) TEIHRA SRl
(c) TEIhr= Feaerfeerd
(d) g«ic?v IR g 3fderd
Hehdieh :
@ @ ) (o)
A) ®) @ (@) (o
B) © b)) @ @@
C) & © @ (@
D) @ @ () (©b)
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Arrange the following Abstracting
Periodicals in order of year of their
print publication with the help of

codes given below :

(1) Chemical Abstracts

(z1) Sociological Abstracts

(Zii) LISA

(v) Biological Abstracts

Codes :

(A) @) Gv) @) @GID)

B) () @ @ @)

C) & Gv) @) @u)

D) @) @) @ (o)

MAY - 18316/II1—D
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10.

11.

INIS, which is comprehensive
information systems on the peaceful
uses of nuclear science and

technology is maintained by :
(A) TAEA
(B) CERN
(C) NASA
(D) BARC

Arrange in sequence the components
of ISBN’ with the help of codes given

below .

(z) Check Digit

(11) GSI Prefix

(iit) Publication Element
(tv) Registration Group

(v) Registrant

Codes :

A @ @ G @) ()
B) @ W @© @ @
©C) @ @ @) @ ()

D) ) @) @) @ (i1)

10.

11.

MAY - 18316/II11—D
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12. Statement (1) :

Statement (2) :

The Library of
Congress
established in
1800, got burnt
down in 1814
when the
invading British
troops set fire to
the Capital

Building.

Soon after that
retired President
G e or ge
Washington
offered his
personal library
as a replace-

ment.

Select the correct answer from the

codes given below :

Codes :

(A) Both (1) and (2) are true

(B) (1) is true but (2) is false

(C) (1) is false but (2) is true

(D) Both (1) and (2) are false

12. faem () :

0T (2) :

MAY - 18316/III—D
‘el AR I
TATIAT 1800 HTeit STl
g 1814 HeY fadtwn

L

ThISTeT oSl

hetedl
@i sfuee fafee’
o ARTeIeAT SIS df

TEET STl

MR T e Teel-
e SIS AfeTed I
AT Jaferash TATad

TS AT WU el

aell feeean gahdieqd ard qag

faer

- -
-
-

[a) ha¥

(A) (1) 37T (2) et &R 3TRd

(B) (1) SR 378 W (2) THid 318

(C) (1) Fehld 38 W (2) s 378

(D) (1) 3for (2) TGN Tehl= AT
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13.

14.

Arrange the following ancient
libraries in order of their origin with
the help of codes given below :
(z) Nalanda Library

(z1) Alexandria Library
(zi1)) Ashurbanipal Library

(tv) Takshila Library

Codes :

(A) @) Gv) @) @)
B) @ @) Gv) @)
(C) Gv) ) @) @
D @ @ Gv) @)

How does your garden grow ? Is the
title of photos taken for elementary
school children, the text is written
by Bud Sounders which is edited by
Rita Reemer and the photos are
taken by Tom Fegely and Tom
Gettings. The main entry according
to AACR2 (Revised Edition) for this

work would be under :
(A) Sounders, Bud
(B) Reemer, Rita

(C) Fegely, Tom

(D) How does your garden grow ?

13.

14.
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qeidl UTed WUTeare] el TIal-
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(i) STAFIG YT
(i) SRS T
(iv) AT T
Hehdieh :

(A) Gii) Gv) G @)
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D) Gi) @) Gv) i)
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15.

16.

The process by which a library can

migrate collection for reprocessing

s

(A) Law of Local Variation

(B) Law of Osmosis

(C) Law of Impartiality

(D) Law of Parsimony

Gap device helps in :

(A) Only Extrapolation in Array

(B) Only Extrapolation in Array

and Interpolation in Array

(C) Extrapolation in Array and

Interpolation in Array and

Extrapolation in Chain

(D) Extrapolation in Array and

Interpolation in Array and

Interpolation in Chain

15.

16.

MAY - 18316/II1—D

I 9fRATEST T T SAH TSI
Holedl TIAE JEeush! v a
A Bd ?

(A) A A oihed R UM
(B) @ 3% I

(C) & Ak TR
(D) &f 3w wIfEet

‘for #qf@’ (Gap Device) Jeiatdent

MG AR Hid 7

(A) TeR TRIMOIH 34 3R

(B) e TSI 39 R effur
TIACRM 37 3N

(C) TFZMUORT g9 3R 0T U™

3T 3R I TRIMUeRE g =F

(D) THRZURINE §7 3R ST SeXaee™

3T 3R o1 Sy 39 =
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17.

18.

Dewey Decimal Classification
Scheme frequently denotes a
division or section as ‘others’ to
divide a set of coordinate classes.
Identify the Canon that such a

division attempts to satisfy.

(A) Canon of Exclusiveness

(B) Canon of Exhaustiveness

(C) Canon of Helpful Sequence

(D) Canon of Relevant Sequence

Additional information given in the
form of notes in a Bibliography is

called :

(A) Review

(B) Annotation

(C) Summary

(D) Analysis

17.

18.

MAY - 18316/II11—D

=5 Sfame et Ygdiaed Tehasaal
‘o1’ 71 YRIER FAIEA A1 S
ot fepen fawum gfed svard Jard. st
TR faTsHE qeiaiush! HIvd I
AN ged ?

(A) STUESieRdl A

(B) TR g+

(C) WRrEFSRl 3T

(D) 999 STIHRA A
TG U T i SR/ 3Tfaier

(A) 3TMeren

(B) faarwr 3w

(C) IR

(D) fagerom

13
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19.

20.

Which of the following Canon says
that strength to decide the position
of an entry among the various
entries in a Catalogue should, if
possible be concentrated in the

leading section ?

(A) Canon of Ascertainability
(B) Canon of Prepotence

(C) Canon of Individuality
(D) Canon of Sought Heading

In which of the following methods
observed data are transformed into
sets of symbols such as words,

themes, motives, concepts etc ?
(A) Content Analysis

(B) Case Study

(C) Community Survey

(D) Delphi method

19.

20.

MAY - 18316/II1—D

Tferehaeiel SR AR M TERN AR T4

oI THed § YERer g SRR

g xifad ?

(A) TfT=aume ¥t
(B) HexdIshH A
(C) =AfRARTS=E ¥

(D) §99% HYS T

JEIUehT 10T Tgaaed Feo shetea

o Ul SATC IR Fehdra—ar=al T4

B ?
(A) ARTATITATOT
(B) s gH

(C) HHfehad e
(D) Shiggdl
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21. Match the following and select the

correct answer from the codes given

below :
List I

(1) National Information Centre for

Crystalography

(1) National Information Centre for

Bibliometrics

(z11) National Information Centre for

Drugs and Pharmaceuticals

National Information Centre for

(@)

Food Science
List II
(@) Mysore
(b) Lucknow
(c) Delhi
(d) Chennai
Codes :

@ @ @@ @)
A d © ) (@
B) (@ @ (@ (©)
€ b)) © (@ @
D) ) @ (@ (©b)

MAY - 18316/II11—D

(AW e SN

21. e Sesa S0 Wrelt feeien Hehdrehid

99 9g feer .
RICU |

(G) TIMFA TTHHIE FT TR
EX=SIPIED

() YA TTHEAIE G EIN
Tafsastmdied
({ii) SIFA THHIE T R g 3f-8

TR fCheTe

(iv) FIFA TTHEHAIE G W HT
HEIH
et 11
(@) ‘%11{
(b) =l
(c) feeedt
(d) =
Hehdich :
G Gi) (iv)
A @ @© O (@
B) @ @ © ®)
C) B © @ @
D) © @ (@ ©b)

15
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22.

23.

A measure of the average

relationship between two or more
variables in terms of original units

of data relates to :

(A) Regression Analysis

(B) Correspondence Analysis
(C) Cluster Analysis

(D) Correlation Analysis

Arrange the following Catalogue
Codes in chronological order with the

help of codes given below :
@) CCC
(i) AACRI

(zi1) Rules for Dictionary Catalogue

(iv) AA code

Codes :

A) @) vy @O @)
B) Gv) Gi) @) @)
©) @) Gy @ 3GiD)
M) @ @ Gv) @)

22.

23.

MAY - 18316/II1—D

TAYT HIfed =1 oo SeehreAl ST SH

ATIG e JaicTdehl HeMel HaY 3Ty ?
(A) Torm stafatas

(B) S sfAfafas

(C) FRI Ifarad

(D) HIReRA stafaras

(aV
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24.

25.

Research design gives the :

(A) Blueprint of the research

activity

(B) Procedure of research activity

(C) Technique of research

(D) Procedure of designing tool

The three most widely used

measures of variability are :

(A) The range, the mean deviation

and the standard deviation

(B) The mean, the mode and the

median

(C) The mean, the range and the

mean deviation

(D) The mean, the mean deviation

and the standard deviation

24.

25.

MAY - 18316/III—D
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[a) [a

(A) FINEA FHEET Ay

(B) TINEA kA=l hradgl

(C) HIMeE™ a9

(D) 3R eArT wrRivgdl

gfradasiiads FISHIT HITITHIS]

gaiferss 99t IO 19 HIUE ©

oA ?

(A) TRes, TR famem snfor gafora

foge™

(B) HUE{, sgareh iUl Hedeh

(C) Ul gRes enfor gue faaer

(D) U, FEH fomeq smfor yenfora

oo™
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26.

27.

Which is not considered non-
recurring expenditure in the

following :

(A) Expenditure on Buildings

(B) Expenditure on Furniture

(C) Expenditure on Equipment

(D) Expenditure on Contingency

Span of Control refers to :

(A)

The number of subordinates to

be supervised

(B) Exercise the strict control over

the staff

(C) Duration over which the control

is to be exercised

(D) The area which is to be

controlled

26.

27.

MAY - 18316/II1—D

EATeTdeh! hivral @< g el @

GHSIAT S ATer ?

(A) URGE0S e

(B) Wi=Relia ©=

(C) YR T
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&

(B) a0l el o =00
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(D) e, SameR =0 390 AavaH
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28.

Skill, efforts, responsibilities and

job conditions are the factors to

28.

MAY - 18316/II11—D

SR, TI, STeEe=a1 0T =
I ST T JeiaTdehl S
TEIHIAT T hell Sl 2

evaluate .....cooevevneeeennnn.... .
(A) Job Analysis (&) P fereerom
(B) Job Description (B) F o
(C) Job Work ©)
. (D) FEE fageryo
(D) Work Analysis
29. Assertion (A) : Acquisition of 29. ToRIT (A) : =
copyright  is Y J SATINRTY Bl o
satomatic in ITHTAT  H1ITATRI
India and it does geRTeAT ST ehdsl
not require any TRS .
f lity. .
ormatty HROT (R) : &1 Shdsey==al YHIO
Reason (R) : Bec.ause T BEE A 3
according to the i S— -
B e r n e . R
. ITHTAT  H1ITATRI
Convention, copy- . R
right protection JHTAT TS TR T
is obtained fope Sfq=Teha= TR
automatically T
WlthOl%t the. need TUrEy
for registration or
other formalities. (A) Tt (A) 7o (R) IR 3Ted
Codes : (B) (A) ¥ SRR 3§, Wg (R) T I
(A) Both (A) and (R) are true Sl
(B) (A) is true but (R) is false (C) Tl (A) U1 (R) Fehid 3ed
(C) Both (A) and (R) are false (D) (A) § g 3T, g (R) ¥ SR
(D) (A) is false but (R) is true e
19 [P.T.O.



30.

31.

The main reason for using uniform
titles as heading for certain works

in a library catalogue is :

(A) Because users generally look

under the uniform title

(B) Because these works are

anonymous

©)

Because it is necessary to

collocate different editions of a
book

(D) Because uniform titles make

clear the content of the book

Copyright Act in India protects the
rights of published literary works

created by joint authors.

(A) Until sixty years from the next
following year in which the

work is first published

(B) Until fifty years from the next
following year in which the

work is first published

(C) Until sixty years from the next
following year in which the first

author dies

(D) Until sixty years from the next
following year in which the

author who dies last

30.

31.

MAY - 18316/II1—D

Ty aiferehaed et fafyme Fdten
AT Toheq UL Iseh T S0

& R0 WU

(A) FAETHOYO gTeeh Tehed JeATH-

THO Hifgd! e
(B) RO A Fdl 3HMHSG ST
(C) s Terr=an fafaw smgcr=

TEEATT hi0 AE9Ih AR

(D) RO THEY TIIH A= T
e

IRATAS TMHE HIHETTIR FeeT@Ihi]

oo N

TR fofectean wifeferes g&ihm

g fohdt gl da 2

(A) T YAH YHRE auHR e
e FuiaEd

(B) T YIH YHRM AR e
LI EIREE

(C) &= Y o HTaeiedl CreehT=l

IS Jeid 918 auiaed

(D) For=a1 Hafd Vel Jog qreeied

TEhT JITNHAMR Jerd 918
EEIRRE

20
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32. Which of the following is not true | 32. Wreficiyehl HIvK e Y= aTedia

about Patent ? /R e ?

(A) A Patent is an exclusive right (A) 9z 3 TETET TEE TRt

granted for an invention

THesreren gaoqett AR 218

(B) To get a patent, it is not 0 )
(B) U2 THafauamrardt snenfaw=i=t afseh

necessary to disclose the

et SASHA T hed =

technical information about the

RIS IS HILTATT ST

invention to the public in the

e

application

(C) U2 Td TYMHEN dehNeh 3T
(C) A patent may not be valid in

I

every country

(D) A patent is granted for a limited (D) U2 § Ifaeh HIeTaEided A

period FOI I

21 [P.T.O.
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33. Match the following and select the

33. Sired1 Sesa S @t et HehdrenIqd

correct answer from the codes given

below :
List I
(1) AAA Fyzee
(z1) S.R. Ranganathan
(iiz) G.R. Ekbote
(tzv) V.N. Subharayan
List II
(@) UGC Library Committee (1959)

(b) Library
Committee (1974)

Reorganising

(¢) A.P. Library Committee (1976)

(d) Library
Committee (1939)

Development

Codes :

@ @ @@ @)
A © @ O (2
B) b)) @ (@ (©
C) (@ @ () (b

D) d @ (©© ©®)

A qatg faer
R |
) TTT hel
(i) TE.SR. THIEH
(iii) S.3TR. THa
(iv) RI.TT. GHEA
et 11
(@) FSEL el wiHST (1959)
(b) TS TATHAGT R (1974)
(€ T oEFsdl HiHel (1976)

(d) AT TRATHS HTHT (1939)
i

@ @ @) ()
A) (© @ @) (2
B) b) @ @ ()
©€) (@ @ (© b

D) d @ (© ©®)

22
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34. Arrange chronologically the | 3% I HIFATHT HTARHATLHR  TFAT

o N

el oo Hehdieh=al ST U :

following Public Libraries Act with

the help of the codes given below :

() O M Uledsr AFeS 3lae

(1) West Bengal Public Libraries

Act (i) TSRIG Gfsceh TSRS 3T

(z1) Gujarat Public Libraries Act

(ii7) BTN UfseTeh e 3l

(ziz) Haryana Public Libraries

(jv) oM ufseTer amEsRS 3T

Act
(iv) Mizoram Public Libraries HEaiE
Act
(A) () @) @) (o)
Codes :
A @ Gu) @) Gv) B @) Gi) @) @)

B) @ @) Guv) GD)
© @ @ G Gv)
© @ @ @) Gv)

D)@ G G G
D G G) G @) D) G) @) @) D)

23 [P.T.O.



35. Arrange in the logical order of

evolution with the help of the codes

given below :

(z) Library and Information
Science

(1) Library Science

(zir) Library Science and

Documentation

(tv) Library Economy

Codes :

A @ @ @) o)
B) Gv) @) G @)
(C) Gu) i) @@ (o)
D) @) Gv) Gi) @)

MAY - 18316/II1—D

35. SCRIMHATTIR Welid Se= qohds

a o N

= ©et fedea Tehdiehr=an e

{0

() Vo™ emfor wifedieme

(1) VAT

(i) TATAIIMES 3T JeAa

(fv) TITTT THAMET (STLfeTaa)

Hehdich :

A @ @ @) Gv)
B) Gv) @) G @)
©) @) @ @ ()
D) @) Gv) @) @)

24
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36. Assertion (A) : Para-pro- | 36 faam (A) : fAacgawifas d9= ©

fessional staff TaraaTsaT A fed
support  the FHTHRTSTHED ST dh
professional staff TRl AEd T

in library

HRUT (R) : FEHTH FahHl STIHE

routines. Ty
Reason (R) : Professional staff NN C s
(B) rotessionat sta eelt foded Feahdrehlqd At 94
lack experience.
ferer .
Select the correct answer from the N
Hehdlah :

codes given below :

(A) (A) ¥ 9% 1R, Wg (R) & SRR

Codes :
3T

(A) (A) is false but (R) is true (B) 28l (A) =TT (R) ﬂaﬂ% K5 IES

(B) Both (A) and (R) are false (C) 3= (A) =T (R) SRR %

C) Both (A d (R t r
(C) Both (A) and (R) are true (D) (A) ® seX 378, W (R) ® Iehr

(D) (A) is true but (R) is false e

25 [P.T.O.



37.

38.

Which is not the publication of

‘DESIDOC’ ?

(A) Popular Science and

Technology

(B) R and D digest

(C) Technology Focus

(D) Annals of Library and

Information Studies

INSPEC is published by :

(A) American Physical Society

(B) Institute of Engineering and

Technology

(C) Institute of Electronic

Engineers

(D) American Chemical Society

37.

38.

MAY - 18316/II1—D

2

qEITdeh] hIVId TR SfEeieh shard]

e ?
(A) TR HEE e SHTars
(B) 3R 3fg € SN

(C) TFATATS HIhd

(D) 3T 3 AR 3fe ShITHe™

T R Shed.

(A) TAREHT WiSiehd TS

(B) zfege ofw fafmafin ofc

N,

(C) 3fReege 3% SorRieh Sy

(D) 3THRT Shfgshd TEEE!

26



39. Assertion (A) :

LIS profession is
not considered at
par with medical
and engineering

professions.

Reason (R) : There 1is no

constitutional
body for LIS
profession like
Medical Council
of India and

AICTE.

Select the correct answer from the

codes given below :

Codes :

(A) Both (A) and (R) are true
(B) Both (A) and (R) are false
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

39. faam™ A) :

MAY - 18316/III—D
Torera Afor {ifed-

RMA AAHATH eI 1

arfor ety T

SIHTATYHTI HHh &

ESIR I |
T amfor Hifedi-

IME  STIGTIATHR LT

%ruT (R)

o

ofeswe HifHa ATh
e onfor warma.4r.
3. ITYAT Hieeten
e TR

arell fodean Sshdreq v g3ty
ferer -

Hehdich :
(A) (A) =for (R) gl sRIsR 378
(B) (A) a1 (R) S8 I 3T

(C) (A) T IR R, WG (R) T IH
3y

D) (A) & 9% 3R, g (R) ¥ R
Sl

27
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40.

41.

GIF (Graphics Interchange Format)

employs :

(A) Flexible compression
(B) No compression

(C) Lossy compression
(D) Lossless compression

Which of the following is not true
about the concept of Information

Policy ?

(A) Itinvolves a multi-dimensional

approach

(B) It 1is possible only in
multilingual countries

(C) It involves identification of
appropriate agencies to
implement the policy

(D) It has evolved as a direct
response to information
explosion

41.

MAY - 18316/II1—D

(C) wrEt ISR

(D) WHAE HIEH

Trefieryen! o faum ‘wifedt gRor’
Fohoqaed B ATE ?

(A) I dgiadt gt guifas 31
(B) T el SgHTIoeh SEMHES T T8

(C) wrfedt enzom=l STHAISTIUN

FHITITETST 17T T HETLLA]

(agency) =i ﬁgcrcl'] TS 3T

(D) wfedl &RoT ® HifgdreAn faemhreren

&l giaqare wuH forerfad gl

Sl

28



42. Match the following and select the

correct answer from the codes given

below :
List I
(z) The Europa World of Learning

(i1) Commonwealth Universities
Year book
(212) Universities Hand book
(iv) Statesman’s Year book
List II
(a) Palgrave Macmillan

(b) Association of Indian

Universities

(c) Association of Universities

British Commonwealth
(d) Routledge
Codes :

@ @ @) (o)
A d © ) (@
B) ®) © @ (@
C) (@ B) (© (@

D) d ) (@ )

MAY - 18316/II11—D

(AW SN

42. Sirea SJesa S0 Wrelt feeien Hehdrehid

99 9 feer .
RICU |

() JAN € Sh Al

oc o

(i) HATIeY gREeS 33 ek

oc o

(iti) IS

(iv) RTHATH 33 Ik
et 11

eSTh

(@) dICTeg HehfHeT

(b) STIUEH A% sfead e

(c) STEETEH ATH Jhegrddrst o
AR

(d) &S

Hehdlah :

@ @ @) ()
A d © b (@
B) &) © @ (@
C) @ @) (©© @

D) d © (@ ©b)

29
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43.

44.

The central value of distribution is

known as :

(A) Mean

(B) Median

(C) Mode

(D) Deviation

23rd edition of DDC was published

in the year :

(A) 1990

(B) 1995

(C) 2001

(D) 2011

43.

-+

MAY - 18316/II1—D

faqeorr=ar Aegad]  Hearal &1y

R I

(A) T

(B) #&h

(C) wgeTh

(D) fo=e™

TS SRS IThTOME 2330 STIERA ShIvTe

gIod GehTyTd et 2

(A) 1990

(B) 1995

(C) 2001

(D) 2011

30
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45. Zipf’s laW relates to : 45. %l'\lu‘h{‘tc“ q')|¢|q| .......................... .q.la.l.s.ﬂ,
(A) Frequency of periodicals ) )
(A) Tt aRaTa
(B) Frequency of word occurrences
(B) wStepuHed wemen fafirse vear=
in a text ERCIILGI
(C) Frequency of an author in the (9)) FTTIT?@TW%P?{ ATIHTAT  ATATA
text TR
(D) Ranking of journals (D) frmeTemret A
46. Which of the following are 46. FromeAT fagTatersE ettt o
associated with theories of Gefed eed 2
motivation ? (i) Tl
(1) Maslow (i) et
(z1) Herzberg GiD) Wﬂ
(z11) McGregor (v) T
(iv) Hawthorne e .
Hehdich :
Codes :
(A) @), (i), (1)
(A) @), @), ()
B) @), i), (Gv)
B) @), Gi), Gv)
(C) @), (1), (tv)
(C) @), (i11), (v)
D) @), (), Gv)
D) @), @), Gv)
31 [P.T.O.



47.

48.

The edition statement is given in

parenthesis immediately after the

title of the document in :

(A) Chicago Manual of Style

(B) Modern Language Association

(C) American Psychological

Association

(D) Scientific Style and Format

Gopher is a :

(A) Tool to access Computer

(B) Tool to access Catalogue

(C) Tool to access Internet

(D) Tool to analyse Network

47.

48.

MAY - 18316/II1—D

YEITIehl HIMHE YoI@meal UMM

= AW e fauE i S 2

(A) T dgeta oIk wWiEa

(B) Hfsd oo THIguwH

(C) STHRRT Araehlcirsiichel STHTIUIH

(A) STURER Hifedt THesfaoam @mem
(B) difcteha Hifect fHesfooam= dred

(C) $IER Hifed! THesfovar wrem

(D) STes TIgeIou Shivdmeniidl amaierd]

A
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49.

50.

In a research paper to refer to the

immediate previous reference, the

following term is used :

(A) loc. cit

(B) ibid

(C) op-cit

(D) see above

Which among the following was

probably the first issue system ?

(A) The Browne Charging System

(B) Ledger System

(C) Day Book System

(D) Newark Charging System

49.

50.

MAY - 18316/II11—D

TN EHed M= HewHae o

ATATIT Heuidl Sed®@ HITITHIS!

(B) 3fore

(C) Mg e

(D) Hi 31eis

TTCATeTIehT ShITTA SaEaG Yo He|

et ?

(A) s =RfsT g

(B) SR 9=

(C) © 9= fa=m

(D) "o =IRfe Ay

33
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51.

52.

There are 50 total relevant
documents in a collection. In
response to a query, only 30 relevant
documents are retrieved, what is the

recall percentage ?

(A) 20%

(B) 33%

(C) 40%

D) 60%

Assertion (A) : ISBDs were
devised by
UNESCO.

Reason (R) : UNESCO is

focused about
cataloguing of

documents.

Select the correct answer from the

codes given below :

Codes :

(A) (A) is true but (R) is false
(B) (A) is false but (R) is true
(C) Both (A) and (R) are true

(D) Both (A) and (R) are false

51.

52.

MAY - 18316/II1—D

TOGUE THU 50 e Joie e,
T Heo UYEeA STHUEM e 30
Hafya gere e, T @ I
TFhAN fohdt 2

(A) 20%

(B) 33%

(C) 40%

(D) 60%

faam (A) @ IR ST EEL
IR shedl 3.

HRUT (R) : W@ dlfelehihi

FATRT=AT h ST
IR,

arell fodean S aE g3y

IREEIEE

Hehdiah :

(A) (A) ¥ faum TR R, WY (R)
% g% 3T

(B) (A) T faum ¥& 3T, Wg (R) ©
TR 3T

(C) Tt (A) 3Tfor (R) & sRIeR 2Te
(D) T (A) 3T (R) § gohia 3T

34



53.

54.

Which among the following charts
would be ideal to show the potential
causes and effects of a problem ?

(A)
(B)
(®))
(D)

An
determined by :

@)
(21) Hierarchy

Control charts
Flow charts
Run charts
Fishbone charts

organisational structure is

Span of control

(zi1) Space and location
(tv) Collection

Select the correct answer from the
codes given below :

Codes :

(A) (@) and (i2)
(B) (i) and (ii7)
(C) (i) and (iv)
(D) (v) and ()

53.

54.

MAY - 18316/II11—D

EICTUsh! IV STCRE FHTeT SHIROT ST
TREE QR Seifavare A9 e ?

(A) faf@ smE
(B) Wegl 3Aei@
(C) @ &ed@
(D) ®REME e

T T IV FhHes S0

IJd ?

() frafE foam
(i) 2o

(iii) ST S0 4es

(jv) TUE

arell fodean S dvE T3ty
faer .

Hehdich :

(A) () 2for (d)

(B) (ii) oTfOT (iii)
(C) (iii) A (jv)
D) @) 3o ()

55. The names of Frank and Lilian | 55. %@ 3Tf01 fefefia Tfiasier & wefierie]
Gilbreth are associated with : HIME Fetea oed 2
(A) Industrial Psychology (A) STENfTR AHE
(B) Time and Motion Study (B) =hle3 30T Tl 79
(C) Cataloguing (C) dfetehientol
(D) Indexing (D) frdeH
35 [P.T.O.



56. Arrange the following with the help

of codes in the sequence of

information cycle that gives an

indepth and detailed view of an

event :

(1) Magazines

(iz) Broadcast Media

(Zi1) Journals

(tv) Newspapers

Codes :

A @) @) @) Gv)

B) @) @) @ @)

C) @) @ Gv) @)

D @ @ Gv) @)

MAY - 18316/II1—D

56. TETET W49 9@ qud dfosy e

~

FLOIRITT AEA=1 FehI{HR @eile

o

HSHTEl AT Wil feoiedn TehdiehT=

MY HH Al

() W

(fi) JATO HEegH

O RERELEINED

(jv) TS

- -
-
.

A @) @) @) Gv)

B) @ G @ @)

©) @) @ Gv) @)

D) @ @ Gv) @)
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57.

58.

Which one is the limitation of

MBO ?

(A) It co-ordinates the efforts of

various group leaders

(B) MBO concentrates on the leader

of the team or the individual

(C) It provides better management
training to managers at lower

cost

(D) It improves decision making

Cost-Benefit Analysis means :

(A) Performance evaluation based

on repayment of loan

(B) Selling costly items at

reasonable price

(C) Performance evaluation based

on benefit in relation to input

(D)

Finding out value for money

57.

58.

MAY - 18316/1I1—D
TH.S.e. W qEAudR! IO Tl

e ?

(A) 1 fafay Te yHEm= Jae=n 99

L

(B) WH..3W. ¥ SafcRen TRl TquH@

(al ha¥

[d chid

AR <h

(C) O HaEATIeRTY 3Tf¥es amTedn Rdm

HHT T eI Fiereor gfad

(D) d Foiaema gamd

TE-T%1 favaoor wUS wE ?

(A) & TIAHETAT STER el
FHRGHAS TeIHIH

(B) WgTTedl &g fawmi=t =
frma

(C) TLaaukT=al HIWld e
FIFATIER &hAd  h1d &aa=
eI

(D) TeTE THeR wiEm

37
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59.

60.

In experimental research method a

pretest is administerted to members

of :

(A) Only experimental group

(B) Only control group

(C) Both experimental and control

group

(D) To neither of the two groups

Another name for Bivariate Graph

s

(A) Polygon

(B) Histogram

(C) Pie-chart

(D) Scatter Diagram

59.

60.

MAY - 18316/II1—D

TR TINEAISAHE hIve =

QYTEETET F=uige wie Sde S ?

(A) Tad YR e

(B) wed Tafa e

(C) wrEfier emfor fafaa e@ <=

RICA

(D) St Tkl hHIvIEr TRl

e ~ AN A ~
dldceRUc HlElld Clciiciben] g BIE

v ?

(A) SIS

(B) fe=mm

(C) adeolhdll SACIE

(D) fo@rur et

38



61. A foot-note is :

(A) A bibliographic reference

(B) A supplementary information to

text

(C) Both (A) and (B)

(D) Neither (A) nor (B)

61.

MAY - 18316/II11—D

qoodld /U ¢

(A) Tergeifawes T

(B) WSTHUE QLek Hifgdl

(C) (A) =for (B) 2ra

(D) (A) fRar (B) Hivdel Ar

62. The concept of SDI was orginally set 62. TH.EI.3M9. & Hehoudl Held: hIvil
qreett ?
forth by :
(A) Mortimer Taube (A) HifEHR 24
(B) Derek Austin (B) & oA
(C) JEL Faradane (C) JETA A
(D) Hans Peter Luhn D) ¥ foex o
59 [P.T.O.



63.

64.

65.

Location of library building is an

implication of :
(A) Fourth Law
(B) First Law

(C) Third Law

(D) Fifth Law

Combination of any two or more

topologies is called as ......... .
(A) Hybrid

(B) Ring

(C) Bus

(D) Physical

Information transfers is :

(A) Objective value into subjective

value

(B) Non-valuable resources into

valuable resources

(C) Subjective value into objective

value

(D) Valuable resources into non-

valuable resources

63.

64.

65.

MAY - 18316/II1—D

TATAIAT=AT SHRATE €M EelteTdeh!

I GHER Gfad Bd ?

(A) =9 A
(B) dfeet ¥
(C) fomt g5
(D) 9= e o

foren stferer SrdrcIrsi=a TR

ha¥ o o

(A) TEfT3dehe <At

o

N N
boden S

(B) qoafaifed &< HedrcHsh Eidid
E IR

i o ™

(C) A TSdehgd T T3dhe

o

(D) qearcHs Hiare Heafoifed Eidrd

B
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66. The root of the term ‘Statistical

Bibliography’ can be traced to its

first use in 1923 by :

(A) EW. Hulme

(B) E.C. Richardson

(C) J.D. Brown

(D) Henry Evelyn Bliss

MAY - 18316/II11—D

66. ‘‘TaEEATHS YUl A el I 9

fa=m gom 9 1923 Hed

hel.

(A) 33, =M
(B) .41 f=gmm
(C) SE. T

(D) T S foord

67. The null hypothesis of Cranfield-II | 67. Harthes-II Fhedrd NG JIESED gq‘?lcd
project was that “the various index ame ‘' fafay fdym ardter TneETE
language devices tested performed SR wREts foga sefl.’’ =
equally well”. In this hypothesis TRIdehTdlel RTHARY ?
performance is : 3R,

(A) The dependent variable (A) TEcs I
(B) Independent variable (B) @@ 9a
(C) It is not a variable (C) T Ia AR
(D) It is an assumption (D) 7 Tfede/em faum =t
41 [P.T.O.
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68. Assertion (A) : Questionnaires | g8 faum (A) : HIYUHE, Y&l ©

are often used in

qshesq] ATfgdl Ml

surveys as the
FITIT HIET [

primary data
EIRIGES G

collection tool.

U7 (R) : USAECHEN SRR

Reason (R) : Questionnaires

ERIENCEEH I CRIIRK]
prevent personal
contact with T
respondents. aell feeed gaohdreqd drd 94y

Select the correct answer from the e

codes given below :
TUEy
Codes :

~

(A) (A) 30T (R) SIel SRIsR 3Ted

(A) Both (A) and (R) are true

(B) (A) &R 3¢ 901 (R) ¥ I 38
(B) (A) is true but (R) is false

(C) Both (A) and (R) are false (C) (A) =nfor (R) TI=l Tehl= A&

(D) (A) is false but (R) is true (D) (A) I 38 901 (R) & SN 31

42



69. In research, when a hypothesis is

70.

not rejected, when it should have

been, it is known as :

(A) Type I error

(B) Type II error

(C) Alpha error

(D) Not an error

Bradford’s Law of Scattering is
expressed by the equation 1 :7n : n2.

Here 1 represents :

(A) The number of articles in the

nucleus

(B)

The number of journals in the

nucleus

(C)

The number of zones

(D)

It is a multiplier

MAY - 18316/II11—D

69. Sieal FRNHATHE ik AIhRYl STEvah

70.

B W T TR T AR el

FE WO A5A ?
(A) T I TR
(B) =&Y II TX
(C) el T

(D) TR =

sfehear faeromn fagd 1 : n : n?

1 A K hell Sl ASHRI0 1 HE

gfRiq a2

(A) HEEAMT THA @l F&Al

(B) oMl TqAc fadentferehi=i
G
(C) &= T

(D) & TUh 3
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71.

72.

Random sampling is done by :

(A) Stratification

(B) Volunteer

(C) Pick and choose

(D) Sequential counting

How many copies of a book
should be sent to National Library
of India according to Book Delivery

Act, 1956 ?

(A) Two Copies

(B) Three Copies

(C) Four Copies

(D) Five Copies

71.

72.
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Igfess IqAITTaE FIMIFR St

S ?

(A) TR

(B) wddae

(C) frore & w&t
(D) 3TIhHICHe WSOl

Ty I HERI, 1956 TER ARG

T TAeahe Jeaehi= Tehdl Wl

qredred dAraa 7

(A) 9 Ut

(B) M Wt

(C) IR Hat

(D) 9=
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73. Match the following and select the

correct answer from the codes given

below
List I

(i) INFLIBNET

(i) NIC

(iii) DESIDOC

(iv) Verus Solutions
List II

(@) Sanjay

(b) SOUL 2.0

(¢) New Gen Lib

(d) E-Granthalaya

Codes :

@) Gi) i) ()

A B @ © @

B) b)) @ () ()

© B © @ @

D) Bb) ) (@ (©
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[N SN

73. e SJesa S @elt feied HehdiohT

I gFg e
et 1

(@) e

(ii) .37

(iii) Sfaeieh

(iv) g HiegerH
It 11

(@) 5=

(b) 9 2.0

) = A fas

(d) E-Tomer

Hehdich :

@) @) @) (o)
A b)) @ @ @
B) &) @ @ (@
© B © @@ @

D) &) @ (@ (©

45

[P.T.O.



74.

75.

Match the following and select the
correct answer from the codes given
below :

List I
(1) Web of Science
(z1) Scopus
(i) J-gate
(tv) Opera

List II
(@) Elsevier
(b) Thomson ISI
(¢) Internet Browser
(d) Aggregator
Codes :

@)

(A) (@)
(B) )
C d @ (@ ©b)
D) ) @ b)) (a)

A data warehouse is :

(i)
(d)
(@)

(ii1)
(c)
(d)

(tv)
(b)
(c)

(A) A repository of an organization’s
electronically stored data

(B) A process of extracting patterns
from data

(C) A technique for searching large-
scale databases

(D) A method of comparing large
amounts of data

74.

75.
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Sire Seoall 3TI07 @ret! feeied Hehdrehid

I T et
I |
() <& Ak "
(ii) 9y
(iii) SI-71
(iv) 3O
arer 11
(@) Tfegar
(b) UMHET IH.TH.3ME.
(c) TSTT FMSEN
(d) e
Hehdieh :
)
(A) (a)
(B) (b)
C) @ (@ (a) ®)
D) © @ ®) ()
T2 IAAEHE BN

(A) TERS GEH TR W&
q3ad Saciedl Hifgdd HIeR

(B) 221 WA Hifedt ShevareA qgdie
EIERI

(C) nﬁ'o‘in SIEHAYA Hifgd! IEwa
GEl

(D) Higd &A= Jeryd Afgdre=t o

HLOITE TGl

)
d)
(@)

(ii)
(c)
(d)

(tv)
(b)
(c)
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